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(1) Zdfri(v) P TLHOERIZEY v = 10 %
(2) Bl A58 (m)
B 0. 85 _ _ 1 _
al= 8.0 = 1.21 a2 = o 5oy = 1.25
100 100
m = a2 X SL = 1.25 X 27 = 33.8 N/mf
Xo>T m = 33.8 N/mf
(3)KkEA FEW/C) m = -18.7 + 27.7 X C/W
W/C = 27.7 = (33.8 + 18.7) X 100 = 53.0 % = [55% ([R{H)]
W/C = 53.0 %
(4) BALKE (W) YT OERIC ot@ W = 173 kg/m
(5)Hfrt A FE(C) C =W+ (W/C) X 100 = 173 + 53.0 X 100 = 326 ke/mi
Cv= C + #f = 326 + 3.04 = 107 L/m
(6) 2854 (A) A =45 % X 1000 = 45  L/mi
<7)${L*H'E’M‘E<G) VTHOERKICELY »EARFE = 0.580 mi/md EFER = 58.0 %
Gv = 0.580 X 1000 X 58.0 = 100 = 336 L/m
Glv = Gv X 40.0 % = 134 L/m Gl= GIvXFEWHEE = 134 X 2.72 = 364 ke/m
G2v = Gv X 60.0 % = 202 L/m G2= GovX KW = 202 X 2.66 = 537 keg/mi
(8) HALMIEH £ (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 661 = 339 L/m
Slv = Sv X 60.0 % = 203 L/m S1= SIvXHEHEE = 203 X 2.60 = 528  kg/mi
S2y = Sv X 40.0 % = 136 L/mb S2= szvxg%ﬁmr“ = 136 X 2.63 = 358 kg/m
(9)EME(s/a) s/a = Sv - (Gv+Sv) X 100 = 50.2 %
(10) HprRFAE (Ad) Ad = C X IR X ZEFE = 326 X 1.030 % X 1.00 = 3.36 kg/m
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